ARQ (automatic repeat request)
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Obr. C-1 Important time slotsin transmission.

t; —time of transmit the packet

t, —delay between the transceiver and receiver
t3+4 — processing and data eval uation

ts —time of transmit acknowledgement

ts - delay between the transceiver andreceiver
tz —time for processing acknowledgement

t, —sum of every system delay between individual retransmissions
bh=bb+thuttet+tty
t; t5 — time, which we need for transmit information is not included in delay

? S— delay between retransmissions
S=t, +1

M — genera length of message (information bits)
n— length of transmit packet

m— length of information field in packet

r — header of packet — number of overhead bits
m — length of acknowledgement (number of bits)
Ry — bit transfer rate [bit/g]

B1 — number of packet, which we need for transmit massage with length M
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B, — total number of packets transmit for time to, if the transfer rate if R..
B, = & Rl
* 8 n H
?p — bit throughput (ratio of transmit information bits toward every transmit bits)
D
h, =—100 [%]
R,

Py — bit error rate (BER)
g— packet error rate, for packet with length n

q=1- @- R)"
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Block throughput for GBN
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Relative bit throughput
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Optimum frame length -S& W

3 ER=1E-3

1 2 4 8 16 X 6 128 25 512 1024 2048
Length of information field in bytes [m/8]

Optimum frame length - GBN
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Length of information field in bytes [m/8]
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